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1. The complement of an angle is 16 more than the angle What's the measure of the angle?
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2. The complement of an angle is 6 more than thce as blg as the angle. What's the measure of the
angle? | Comf ) :
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3. An angle is 16" less than its supplement What are the measures of the 2 angles? .~ .
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4, An a,ngle is4 tlmes the measure of its complement What s the measure of its supplement?
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. The complement of an angle is 48" What's the measure of its supplemeht?
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6. When % the supplement of an angle ls“acl“cled 0 the complement of the angle, the sum is 120°.
What’s the measure of the complement? o LSy e e
*’ {150 "fﬂ + (Go-x) = 120 ;’;{ X 240 $o Cama“‘l?’ Avenit 1€
T
90 - g)_,( 220, ")‘f T / yle {2{25}?‘{’ e /{2 Ay
“ K A IFO L0 (" 50°)
7. The complement of 34°46' angle i lS bisected. What is the measure of the smaller angles?
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8. 3 angles add to 132° and are in the ratio 2:4:5. What are the 3 angles7 -
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9. An angle has been blsecte§ then one of the smaller angles was tnsected One of the smallest
angles measures 8°. What was the measure of the original angle?
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10. An 72° angle was trisected, then one of the three pieces was bisected, then one of those 2 was
bisected again. Sketch this below and include the measures of each angle.
7
S
f / ,,,«Mg«wf‘”m
N
'hy”{"%zih WWW

ez,



